

**SOME INEQUALITIES OF TRAPEZOID TYPE FOR DOUBLE
INTEGRAL MEAN OF ABSOLUTELY CONTINUOUS
FUNCTIONS**

SILVESTRU SEVER DRAGOMIR^{1,2}

ABSTRACT. In this paper we establish some Ostrowski type inequalities for double integral mean of absolutely continuous functions.

1. INTRODUCTION

In 1999, Cerone & Dragomir [10] obtained the following *generalized trapezoid inequality* for absolutely continuous functions $f : [a, b] \rightarrow \mathbb{C}$

$$(1.1) \quad \left| \left(\frac{x-a}{b-a} \right) f(a) + \left(\frac{b-x}{b-a} \right) f(b) - \frac{1}{b-a} \int_a^b f(t) dt \right|$$

$$\leq \begin{cases} \left[\frac{1}{4} + \left(\frac{x-\frac{a+b}{2}}{b-a} \right)^2 \right] (b-a) \|f'\|_{[a,b],\infty} & \text{if } f' \in L_\infty [a, b], \\ \frac{1}{(q+1)^{1/q}} \left[\left(\frac{x-a}{b-a} \right)^{q+1} + \left(\frac{b-x}{b-a} \right)^{q+1} \right]^{1/q} (b-a) \|f'\|_{[a,b],p} & \text{if } f' \in L_p [a, b], p > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ \left[\frac{1}{2} + \left| \frac{x-\frac{a+b}{2}}{b-a} \right| \right] (b-a) \|f'\|_{[a,b],1} & \end{cases}$$

where the *Lebesgue norms* $\|\cdot\|_{[a,b],p}$ are defined by

$$\|g\|_{[a,b],p} := \begin{cases} \operatorname{ess\,sup}_{t \in [a,b]} |g(t)| & \text{if } f' \in L_\infty [a, b], \\ \left(\int_a^b |g(t)|^p dt \right)^{1/p} & \text{if } f' \in L_p [a, b], p \geq 1. \end{cases}$$

The best inequality one can get from (1.1) is for $x = \frac{a+b}{2}$, namely

$$(1.2) \quad \left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right|$$

1991 *Mathematics Subject Classification.* 26D15, 26D10, 26D07, 26A33.

Key words and phrases. Integral mean, Absolutely continuous functions, Trapezoid inequality, Integral inequalities.

$$\leq \begin{cases} \frac{1}{4} (b-a) \|f'\|_{[a,b],\infty} & \text{if } f' \in L_\infty [a, b], \\ \frac{1}{2^{1/q}(q+1)^{1/q}} (b-a)^{1/q} \|f'\|_{[a,b],p} & \text{if } f' \in L_p [a, b], \\ p > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ \frac{1}{2} \|f'\|_{[a,b],1} \end{cases}$$

with $\frac{1}{4}$, $\frac{1}{2^{1/q}}$ and $\frac{1}{2}$ as the best possible constants.

For some related trapezoid type inequalities see [1]-[9], [11]-[15] and [17]-[24].

For the integrable function $f : [a, b] \rightarrow \mathbb{C}$, we consider the *double integral mean* defined by

$$\frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{t+s}{2}\right) dt ds.$$

Motivated by the trapezoid inequality above, it is thus natural to ask what is the distance between the double integral mean and the convex combination of two values, $f(x)$ and $f(y)$ with $x, y \in [a, b]$, in general and $f(a)$ and $f(b)$ in particular?

Some answers for the absolutely continuous functions whose derivatives are essentially bounded or p -Lebesgue integrable are provided below.

2. SOME PRELIMINARY FACTS

We need the following preliminary facts:

Lemma 1. *If $f : I \rightarrow \mathbb{C}$ is locally absolutely continuous on $\overset{\circ}{I}$ then for each distinct $z, x, y \in \overset{\circ}{I}$ and $\lambda \in \mathbb{R} \setminus \{0, 1\}$ we have*

$$(2.1) \quad f(z) = (1-\lambda)f(x) + \lambda f(y) + S_\lambda(z, x, y),$$

where the remainder $S_\lambda(z, x, y)$ is given by

$$(2.2) \quad S_\lambda(z, x, y) := (1-\lambda)(z-x) \int_0^1 f'((1-s)x + sz) ds \\ - \lambda(y-z) \int_0^1 f'((1-s)z + sy) ds.$$

Proof. For any $t, s \in I$, $s \neq t$, one has, see [13]

$$\frac{f(s) - f(t)}{s-t} = \frac{1}{s-t} \int_t^s f'(u) du = \int_0^1 f'[(1-\lambda)s + \lambda t] d\lambda,$$

showing that

$$(2.3) \quad f(s) = f(t) + (s-t) \int_0^1 f'[(1-\lambda)s + \lambda t] d\lambda$$

for all $t, s \in I$.

Then by (2.3) we have

$$(2.4) \quad f(z) = f(x) + (z-x) \int_0^1 f'[(1-\lambda)z + \lambda x] d\lambda$$

and

$$(2.5) \quad f(z) = f(y) + (z-y) \int_0^1 f'[(1-\lambda)z + \lambda y] d\lambda.$$

If we multiply (2.4) by $1 - \lambda$ and (2.5) by λ and add the obtained equalities, then we get the equality (2.1), where the remainder is given by (2.2). \square

The above identity (2.1) produces the following simple representations of interest. We have for each distinct $z, x, y \in \hat{I}$ that

$$(2.6) \quad f(z) = \frac{1}{y-x} [(y-z)f(x) + (z-x)f(y)] + L(z, x, y),$$

where

$$(2.7) \quad L(z, x, y) := \frac{(y-z)(z-x)}{y-x} \left[\int_0^1 f'((1-s)x + sz) ds - \int_0^1 f'((1-s)z + sy) ds \right]$$

and

$$(2.8) \quad f(z) = \frac{1}{y-x} [(z-x)f(x) + (y-z)f(y)] + P(z, x, y),$$

where

$$(2.9) \quad P(z, x, y) := \frac{1}{y-x} \left[(z-x)^2 \int_0^1 f'((1-s)x + sz) ds - (y-z)^2 \int_0^1 f'((1-s)z + sy) ds \right].$$

We also have

$$(2.10) \quad f((1-\lambda)x + \lambda y) = (1-\lambda)f(x) + \lambda f(y) + S_\lambda(x, y),$$

where the remainder $S_\lambda(x, y)$ is given by

$$(2.11) \quad S_\lambda(x, y) := (1-\lambda)\lambda(y-x) \left[\int_0^1 f'((1-s\lambda)x + s\lambda y) ds - \int_0^1 f'((1-s-\lambda+s\lambda)x + (\lambda+s-s\lambda)y) ds \right]$$

and

$$(2.12) \quad f((1-\lambda)y + \lambda x) = (1-\lambda)f(x) + \lambda f(y) + P_\lambda(x, y),$$

where the remainder $P_\lambda(x, y)$ is given by

$$(2.13) \quad P_\lambda(x, y) := (y-x) \left[(1-\lambda)^2 \int_0^1 f'((1-s+\lambda s)x + (1-\lambda)sy) ds - \lambda^2 \int_0^1 f'((1-s)\lambda x + (1-\lambda+\lambda s)y) ds \right].$$

Moreover, if we take in (2.1) $z = \frac{x+y}{2}$ for each distinct $x, y \in \hat{I}$ and $\lambda \in \mathbb{R} \setminus \{0, 1\}$, then we have

$$(2.14) \quad f\left(\frac{x+y}{2}\right) = (1-\lambda)f(x) + \lambda f(y) + S_\lambda(x, y),$$

where the remainder $S_\lambda(x, y)$ is given by

$$(2.15) \quad S_\lambda(x, y) := \frac{1}{2}(y-x) \left[(1-\lambda) \int_0^1 f' \left((1-s)x + s \frac{x+y}{2} \right) ds \right. \\ \left. - \lambda \int_0^1 f' \left((1-s) \frac{x+y}{2} + sy \right) ds \right].$$

In particular, for $\lambda = \frac{1}{2}$ we have

$$(2.16) \quad f \left(\frac{x+y}{2} \right) = \frac{f(x) + f(y)}{2} + S(x, y),$$

where

$$(2.17) \quad S(x, y) := \frac{1}{4}(y-x) \left[\int_0^1 f' \left((1-s)x + s \frac{x+y}{2} \right) ds \right. \\ \left. - \int_0^1 f' \left((1-s) \frac{x+y}{2} + sy \right) ds \right].$$

We also need some technical identities that are used to obtain the main results. They have been obtained in [16], however, for the sake of completeness, we provide here their proofs.

We recall the function *sign* defined by

$$\operatorname{sgn}(x) := \begin{cases} -1 & \text{if } x < 0, \\ 0 & \text{if } x = 0, \\ 1 & \text{if } x > 0. \end{cases}$$

The following simple lemma holds:

Lemma 2. *We have for any $a < b$, $d \in \mathbb{R}$ and $p > 0$ that*

$$(2.18) \quad \int_a^b |x-d|^p dx = \frac{1}{p+1} \left[\operatorname{sgn}(b-d) |b-d|^{p+1} + \operatorname{sgn}(d-a) |d-a|^{p+1} \right] \\ = \frac{1}{p+1} \left[(b-d) |b-d|^p + (d-a) |d-a|^p \right].$$

Proof. If $d \leq a$, then

$$\int_a^b |x-d|^p dx = \int_a^b (x-d)^p dx = \frac{1}{p+1} \left[(b-d)^{p+1} - (a-d)^{p+1} \right] \\ = \left[\operatorname{sgn}(b-d) |b-d|^{p+1} + \operatorname{sgn}(d-a) |d-a|^{p+1} \right].$$

If $d \in [a, b]$, then

$$\int_a^b |x-d|^p dx = \int_a^d (d-x)^p dx + \int_d^b (x-d)^p dx \\ = \frac{1}{p+1} \left[(d-a)^{p+1} + (b-d)^{p+1} \right] \\ = \frac{1}{p+1} \left[\operatorname{sgn}(b-d) |b-d|^{p+1} + \operatorname{sgn}(d-a) |d-a|^{p+1} \right].$$

If $d \geq b$, then

$$\begin{aligned} \int_a^b |x-d|^p dx &= \int_a^b (d-x)^p dx = \frac{1}{p+1} \left[-(d-b)^{p+1} + (d-a)^{p+1} \right] \\ &= \frac{1}{p+1} \left[\operatorname{sgn}(b-d) |b-d|^{p+1} + \operatorname{sgn}(d-a) |d-a|^{p+1} \right] \end{aligned}$$

and the first equality in (2.18) is thus proved.

The second part follows by the fact that

$$x = \operatorname{sgn}(x) |x| \text{ for } x \in \mathbb{R}.$$

□

Further, we have the following representation as well:

Lemma 3. *We have for any $a < b$, $s \in [a, b]$ and $p > 0$ that*

$$(2.19) \quad \begin{aligned} \int_a^b \int_a^b \left| \frac{x+y}{2} - s \right|^p dx dy \\ = \frac{4}{(p+1)(p+2)} \left[(b-s)^{p+2} - 2 \left| s - \frac{a+b}{2} \right|^{p+2} + (s-a)^{p+2} \right]. \end{aligned}$$

In particular, we have

$$(2.20) \quad \begin{aligned} \int_a^b \int_a^b \left(\frac{x+y}{2} - a \right)^p dx dy &= \int_a^b \int_a^b \left(b - \frac{x+y}{2} \right)^p dx dy \\ &= \frac{2^{p+1} - 1}{2^{p-1}(p+1)(p+2)} (b-a)^{p+2} \end{aligned}$$

and

$$(2.21) \quad \int_a^b \int_a^b \left| \frac{x+y}{2} - \frac{a+b}{2} \right|^p dx dy = \frac{1}{2^{p-1}(p+1)(p+2)} (b-a)^{p+2}.$$

Proof. We denote

$$I_p(s) := \int_a^b \int_a^b \left| \frac{x+y}{2} - s \right|^p dx dy = \int_a^b \left(\int_a^b \left| \frac{x+y}{2} - s \right|^p dy \right) dx.$$

If we make the change of variable $z = \frac{1}{2}(x+y)$, where $y \in [a, b]$, then we have

$$dz = \frac{1}{2} dy, \quad z \in \left[\frac{1}{2}(x+a), \frac{1}{2}(x+b) \right]$$

and

$$(2.22) \quad I_p(s) = \int_a^b \left(\int_a^b \left| \frac{x+y}{2} - s \right|^p dy \right) dx = 2 \int_a^b \left(\int_{\frac{1}{2}(x+a)}^{\frac{1}{2}(x+b)} |z-s|^p dz \right) dx.$$

Using the representation (2.18) we have

$$(2.23) \quad \begin{aligned} \int_{\frac{1}{2}(x+a)}^{\frac{1}{2}(x+b)} |z-s|^p dz \\ = \frac{1}{p+1} \left[\left(\frac{x+b}{2} - s \right) \left| \frac{x+b}{2} - s \right|^p + \left(s - \frac{x+a}{2} \right) \left| s - \frac{x+a}{2} \right|^p \right] \end{aligned}$$

for $s, x \in [a, b]$, and by (2.22) we get

$$I_p(s) = \frac{2}{p+1} \int_a^b \left[\left(\frac{x+b}{2} - s \right) \left| \frac{x+b}{2} - s \right|^p + \left(s - \frac{x+a}{2} \right) \left| s - \frac{x+a}{2} \right|^p \right] dx$$

for $s \in [a, b]$.

We consider

$$I_{1,p}(s) := \int_a^b \left| \frac{x+b}{2} - s \right|^p \left(\frac{x+b}{2} - s \right) dx$$

and

$$I_{2,p}(s) := \int_a^b \left| s - \frac{x+a}{2} \right|^p \left(s - \frac{x+a}{2} \right) dx$$

for $s \in [a, b]$.

a) For $s \in [a, \frac{a+b}{2}]$, we have

$$\frac{x+b}{2} - s \geq \frac{a+b}{2} - s \geq 0 \text{ for } x \in [a, b],$$

then

$$\begin{aligned} I_{1,p}(s) &= \int_a^b \left(\frac{x+b}{2} - s \right)^p \left(\frac{x+b}{2} - s \right) dx = \int_a^b \left(\frac{x+b}{2} - s \right)^{p+1} dx \\ &= \frac{2}{p+2} \left[(b-s)^{p+2} - \left(\frac{a+b}{2} - s \right)^{p+2} \right] \end{aligned}$$

for $s \in [a, \frac{a+b}{2}]$.

We have $s - \frac{x+a}{2} = 0$ for $x = 2s - a \in [a, b]$. Then

$$\begin{aligned} I_{2,p}(s) &= \int_a^b \left| s - \frac{x+a}{2} \right|^p \left(s - \frac{x+a}{2} \right) dx \\ &= \int_a^{2s-a} \left(s - \frac{x+a}{2} \right)^p \left(s - \frac{x+a}{2} \right) dx \\ &\quad + \int_{2s-a}^b \left(\frac{x+a}{2} - s \right)^p \left(s - \frac{x+a}{2} \right) dx \\ &= \int_a^{2s-a} \left(s - \frac{x+a}{2} \right)^{p+1} dx - \int_{2s-a}^b \left(\frac{x+a}{2} - s \right)^{p+1} dx \\ &= 2 \frac{(s-a)^{p+2}}{p+2} - 2 \frac{\left(\frac{b+a}{2} - s \right)^{p+2}}{p+2} \\ &= \frac{2}{p+2} \left[(s-a)^{p+2} - \left(\frac{b+a}{2} - s \right)^{p+2} \right] \end{aligned}$$

for $s \in [a, \frac{a+b}{2}]$.

In conclusion, for $s \in [a, \frac{a+b}{2}]$ we get

$$\begin{aligned}
 (2.24) \quad I_p(s) &= \frac{2}{p+1} \left[\frac{2}{p+2} \left[(b-s)^{p+2} - \left(\frac{a+b}{2} - s \right)^{p+2} \right] \right. \\
 &\quad \left. + \frac{2}{p+2} \left[(s-a)^{p+2} - \left(\frac{b+a}{2} - s \right)^{p+2} \right] \right] \\
 &= \frac{4}{(p+1)(p+2)} \left[(b-s)^{p+2} - 2 \left(\frac{a+b}{2} - s \right)^{p+2} + (s-a)^{p+2} \right].
 \end{aligned}$$

b) Assume that $s \in [\frac{a+b}{2}, b]$. We have $\frac{x+b}{2} - s = 0$ for $x = 2s - b \in [a, b]$. Then

$$\begin{aligned}
 I_{1,p}(s) &= \int_a^b \left| \frac{x+b}{2} - s \right|^p \left(\frac{x+b}{2} - s \right) dx \\
 &= \int_a^{2s-b} \left(s - \frac{x+b}{2} \right)^p \left(\frac{x+b}{2} - s \right) dx \\
 &\quad + \int_{2s-b}^b \left(\frac{x+b}{2} - s \right)^p \left(\frac{x+b}{2} - s \right) dx \\
 &= - \int_a^{2s-b} \left(s - \frac{x+b}{2} \right)^{p+1} dx + \int_{2s-b}^b \left(\frac{x+b}{2} - s \right)^{p+1} dx \\
 &= - \frac{2}{p+2} \left(s - \frac{a+b}{2} \right)^{p+2} + \frac{2}{p+2} (b-s)^{p+2} \\
 &= \frac{2}{p+2} \left[(b-s)^{p+2} - \left(s - \frac{a+b}{2} \right)^{p+2} \right]
 \end{aligned}$$

for $s \in [\frac{a+b}{2}, b]$.

If $s \in [\frac{a+b}{2}, b]$, then we have

$$s - \frac{x+a}{2} \geq \frac{a+b}{2} - \frac{x+a}{2} = \frac{b-x}{2} \geq 0$$

for $x \in [a, b]$ and then

$$\begin{aligned}
 I_{2,p}(s) &= \int_a^b \left| s - \frac{x+a}{2} \right|^p \left(s - \frac{x+a}{2} \right) dx \\
 &= \int_a^b \left(s - \frac{x+a}{2} \right)^{p+1} dx = -2 \frac{\left(s - \frac{b+a}{2} \right)^{p+2}}{p+2} + 2 \frac{(s-a)^{p+2}}{p+2} \\
 &= \frac{2}{p+2} \left[(s-a)^{p+2} - \left(s - \frac{b+a}{2} \right)^{p+2} \right]
 \end{aligned}$$

for $s \in [\frac{a+b}{2}, b]$.

Therefore,

$$\begin{aligned}
 (2.25) \quad I_p(s) &= \frac{2}{p+1} \left[\frac{2}{p+2} \left[(b-s)^{p+2} - \left(s - \frac{a+b}{2} \right)^{p+2} \right] \right. \\
 &\quad \left. + \frac{2}{p+2} \left[(s-a)^{p+2} - \left(s - \frac{b+a}{2} \right)^{p+2} \right] \right] \\
 &= \frac{4}{(p+1)(p+2)} \left[(b-s)^{p+2} - 2 \left(s - \frac{a+b}{2} \right)^{p+2} + (s-a)^{p+2} \right]
 \end{aligned}$$

for $s \in \left[\frac{a+b}{2}, b \right]$.

By utilising (2.24) and (2.25) we get the desired result (2.19). \square

Corollary 1. *With the assumptions of Lemma 3 we have*

$$(2.26) \quad \int_a^b \int_a^b \int_a^b \left| \frac{x+y}{2} - s \right|^p dx dy ds = \frac{2^{p+2} - 1}{2^{p-1} (p+1) (p+2) (p+3)} (b-a)^{p+3}.$$

Proof. We observe that

$$\int_a^b (b-s)^{p+2} ds = \int_a^b (s-a)^{p+2} ds = \frac{(b-a)^{p+3}}{p+3}$$

and

$$\int_a^b \left| s - \frac{a+b}{2} \right|^{p+2} ds = 2 \int_{\frac{a+b}{2}}^b \left(s - \frac{a+b}{2} \right)^{p+2} ds = \frac{1}{2^{p+2} (p+3)} (b-a)^{p+3},$$

therefore

$$\begin{aligned}
 &\int_a^b \left[(b-s)^{p+2} - 2 \left| s - \frac{a+b}{2} \right|^{p+2} + (s-a)^{p+2} \right] ds \\
 &= \frac{2(b-a)^{p+3}}{p+3} - \frac{2}{2^{p+2} (p+3)} (b-a)^{p+3} = \frac{2^{p+2} - 1}{2^{p+1} (p+3)} (b-a)^{p+3}.
 \end{aligned}$$

Now, by taking the integral over $s \in [a, b]$ in the identity (2.19) we get (2.26). \square

Remark 1. *The case $p = 1$ is of interest in applications and produces the following equalities*

$$(2.27) \quad \int_a^b \int_a^b \left| \frac{x+y}{2} - s \right| dx dy = \frac{2}{3} \left[(b-s)^3 - 2 \left| s - \frac{a+b}{2} \right|^3 + (s-a)^3 \right].$$

In particular, we have

$$(2.28) \quad \int_a^b \int_a^b \left(\frac{x+y}{2} - a \right) dx dy = \int_a^b \int_a^b \left(b - \frac{x+y}{2} \right) dx dy = \frac{1}{2} (b-a)^3,$$

$$(2.29) \quad \int_a^b \int_a^b \left| \frac{x+y}{2} - \frac{a+b}{2} \right| dx dy = \frac{1}{6} (b-a)^3$$

and

$$(2.30) \quad \int_a^b \int_a^b \int_a^b \left| \frac{x+y}{2} - s \right| dx dy ds = \frac{1}{8} (b-a)^4.$$

3. TWO POINTS INEQUALITIES FOR INTEGRAL MEAN

We have:

Theorem 1. *Let $f : [a, b] \rightarrow \mathbb{C}$ be an absolutely continuous function on $[a, b]$. Then for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$ we have*

$$(3.1) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(x) - \lambda f(y) \right| \\ \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \nu_{f'}(x, t) dt + \lambda \frac{1}{b-a} \int_a^b |y-t| \nu_{f'}(y, t) dt$$

where

$$0 \leq \nu_{f'}(z, t) := \int_0^1 |f'((1-s)z + st)| ds, \text{ and } z, t \in [a, b].$$

In particular, we have the λ -weighted trapezoid inequality

$$(3.2) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(a) - \lambda f(b) \right| \\ \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-a| \nu_{f'}(a, t) dt + \lambda \frac{1}{b-a} \int_a^b |b-t| \nu_{f'}(b, t) dt$$

for any $\lambda \in [0, 1]$ and the Ostrowski's type inequality

$$(3.3) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - f(x) \right| \leq \frac{1}{b-a} \int_a^b |t-x| \nu_{f'}(x, t) dt$$

for any $x \in [a, b]$.

Proof. From Lemma 1 we have

$$(3.4) \quad f(t) = (1-\lambda)f(x) + \lambda f(y) + (1-\lambda)(t-x) \int_0^1 f'((1-s)x + st) ds \\ - \lambda(y-t) \int_0^1 f'((1-s)t + sy) ds$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

Taking the integral mean in (3.4) we get the following identity of interest

$$(3.5) \quad \frac{1}{b-a} \int_a^b f(t) dt = (1-\lambda)f(x) + \lambda f(y) \\ + (1-\lambda) \frac{1}{b-a} \int_a^b (t-x) \left(\int_0^1 f'((1-s)x + st) ds \right) dt \\ - \lambda \frac{1}{b-a} \int_a^b (y-t) \left(\int_0^1 f'((1-s)t + sy) ds \right) dt$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

This implies that

$$\begin{aligned}
(3.6) \quad & \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(x) - \lambda f(y) \right| \\
& \leq (1-\lambda) \frac{1}{b-a} \left| \int_a^b (t-x) \left(\int_0^1 f'((1-s)x+st) ds \right) dt \right| \\
& \quad + \lambda \frac{1}{b-a} \left| \int_a^b (y-t) \left(\int_0^1 f'((1-s)t+sy) ds \right) dt \right| \\
& \leq (1-\lambda) \frac{1}{b-a} \int_a^b \left| (t-x) \left(\int_0^1 f'((1-s)x+st) ds \right) \right| dt \\
& \quad + \lambda \frac{1}{b-a} \int_a^b \left| (y-t) \left(\int_0^1 f'((1-s)t+sy) ds \right) \right| dt \\
& \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \left(\int_0^1 |f'((1-s)x+st)| ds \right) dt \\
& \quad + \lambda \frac{1}{b-a} \int_a^b |y-t| \left(\int_0^1 |f'((1-s)t+sy)| ds \right) dt \\
& = (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \left(\int_0^1 |f'((1-s)x+st)| ds \right) dt \\
& \quad + \lambda \frac{1}{b-a} \int_a^b |y-t| \left(\int_0^1 |f'((1-s)y+st)| ds \right) dt \\
& = (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \nu_{f'}(x,t) dt \\
& \quad + \lambda \frac{1}{b-a} \int_a^b |y-t| \nu_{f'}(x,t) dt =: B_\lambda(x,y)
\end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

This proves the desired inequality (3.1). \square

Remark 2. We observe that for any bound $M(\cdot, \cdot)$ for the function $\nu_{f'}(\cdot, \cdot)$ on the square $[a, b]^2$ one can obtain the corresponding two point Ostrowski inequality

$$\begin{aligned}
(3.7) \quad & \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(x) - \lambda f(y) \right| \\
& \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| M(x,t) dt + \lambda \frac{1}{b-a} \int_a^b |y-t| M(y,t) dt
\end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

In the following, we give only a few examples of such inequalities. The interested reader may obtain many more by choosing other bounds for the function $\nu_{f'}(\cdot, \cdot)$ on the square $[a, b]^2$.

For $g \in L_\infty [a, b]$ and any $x, y \in [a, b]$ we use the notation

$$\|g\|_{[x,y],\infty} := \begin{cases} \|g\|_{[x,y],\infty} & \text{if } x < y, \\ \|g\|_{[y,x],\infty} & \text{if } y < x. \end{cases}$$

Corollary 2. *Let $f : [a, b] \rightarrow \mathbb{C}$ be an absolutely continuous function on $[a, b]$. Assume that $f' \in L_\infty [a, b]$, then for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$ we have*

$$(3.8) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(x) - \lambda f(y) \right| \\ \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \|f'\|_{[x,t],\infty} dt + \lambda \frac{1}{b-a} \int_a^b |y-t| \|f'\|_{[y,t],\infty} dt \\ \leq \left[\frac{1}{4} + (1-\lambda) \left(\frac{x - \frac{a+b}{2}}{b-a} \right)^2 + \lambda \left(\frac{y - \frac{a+b}{2}}{b-a} \right)^2 \right] \|f'\|_{[a,b],\infty} (b-a).$$

In particular, we have the λ -weighted trapezoid inequality

$$(3.9) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(a) - \lambda f(b) \right| \\ \leq (1-\lambda) \frac{1}{b-a} \int_a^b (t-a) \|f'\|_{[t,a],\infty} dt + \lambda \frac{1}{b-a} \int_a^b (b-t) \|f'\|_{[t,b],\infty} dt \\ \leq \frac{1}{2} \|f'\|_{[a,b],\infty} (b-a)$$

for any $\lambda \in [0, 1]$ and the refinement of Ostrowski inequality

$$(3.10) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - f(x) \right| \\ \leq \frac{1}{b-a} \int_a^b |t-x| \|f'\|_{[x,t],\infty} dt \leq \left[\frac{1}{4} + \left(\frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right] \|f'\|_{[a,b],\infty} (b-a).$$

Proof. Since $f' \in L_\infty [a, b]$, then by using the notation above, we have

$$|f'((1-s)z + st)| \leq \|f'\|_{[z,t],\infty} \quad \text{for any } s \in [0, 1],$$

which implies that

$$\nu_{f'}(x, t) \leq \|f'\|_{[x,t],\infty} \quad \text{and} \quad \nu_{f'}(y, t) \leq \|f'\|_{[y,t],\infty}$$

for any $t, x, y \in [a, b]$.

On using (3.1) we have

$$\begin{aligned}
(3.11) \quad & \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(x) - \lambda f(y) \right| \\
& \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \nu_{f'}(x,t) dt + \lambda \frac{1}{b-a} \int_a^b |y-t| \nu_{f'}(y,t) dt \\
& \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \|f'\|_{[x,t],\infty} dt \\
& \quad + \lambda \frac{1}{b-a} \int_a^b |y-t| \|f'\|_{[y,t],\infty} dt := C_\lambda(x,y)
\end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

Since

$$\|f'\|_{[x,t],\infty}, \|f'\|_{[y,t],\infty} \leq \|f'\|_{[a,b],\infty} \text{ for any } x, y \in [a, b],$$

then

$$\begin{aligned}
\int_a^b |t-x| \|f'\|_{[x,t],\infty} dt & \leq \|f'\|_{[a,b],\infty} \int_a^b |t-x| dt = \frac{(b-x)^2 + (x-a)^2}{2} \|f'\|_{[a,b],\infty} \\
& = \left[\frac{1}{4}(b-a)^2 + \left(x - \frac{a+b}{2}\right)^2 \right] \|f'\|_{[a,b],\infty}
\end{aligned}$$

and

$$\int_a^b |y-t| \|f'\|_{[y,t],\infty} dt \leq \left[\frac{1}{4}(b-a)^2 + \left(y - \frac{a+b}{2}\right)^2 \right] \|f'\|_{[a,b],\infty}$$

for any $x, y \in [a, b]$.

Therefore

$$\begin{aligned}
C(x,y) & \leq (1-\lambda) \frac{1}{b-a} \left[\frac{1}{4}(b-a)^2 + \left(x - \frac{a+b}{2}\right)^2 \right] \|f'\|_{[a,b],\infty} \\
& \quad + \lambda \frac{1}{b-a} \left[\frac{1}{4}(b-a)^2 + \left(y - \frac{a+b}{2}\right)^2 \right] \|f'\|_{[a,b],\infty} \\
& = (1-\lambda) \left[\frac{1}{4} + \left(\frac{x - \frac{a+b}{2}}{b-a}\right)^2 \right] \|f'\|_{[a,b],\infty} (b-a) \\
& \quad + \lambda \left[\frac{1}{4} + \left(\frac{y - \frac{a+b}{2}}{b-a}\right)^2 \right] \|f'\|_{[a,b],\infty} (b-a) \\
& = \left[\frac{1}{4} + (1-\lambda) \left(\frac{x - \frac{a+b}{2}}{b-a}\right)^2 + \lambda \left(\frac{y - \frac{a+b}{2}}{b-a}\right)^2 \right] \|f'\|_{[a,b],\infty} (b-a),
\end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$, which proves the last part of (3.8). \square

Remark 3. *With the assumptions of Theorem 1, we have the midpoint inequality*

$$(3.12) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - f\left(\frac{a+b}{2}\right) \right| \leq \frac{1}{b-a} \int_a^b \left| t - \frac{a+b}{2} \right| \|f'\|_{[\frac{a+b}{2}, t], \infty} dt \\ \leq \frac{1}{4} \|f'\|_{[a, b], \infty} (b-a).$$

We have:

Theorem 2. *Let $f : [a, b] \rightarrow \mathbb{C}$ be an absolutely continuous function on $[a, b]$. If $f' \in L_p[a, b]$, with $p > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$, then for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$ we have*

$$(3.13) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(x) - \lambda f(y) \right| \\ \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \nu_{f', p}(x, t) dt + \lambda \frac{1}{b-a} \int_a^b |y-t| \nu_{f', p}(y, t) dt$$

where

$$0 \leq \nu_{f', p}(z, t) := \left(\int_0^1 |f'((1-s)z + st)|^p ds \right)^{1/p}, \text{ and } z, t \in [a, b].$$

In particular, we have the λ -weighted trapezoid inequality

$$(3.14) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(a) - \lambda f(b) \right| \\ \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-a| \nu_{f', p}(a, t) dt + \lambda \frac{1}{b-a} \int_a^b |b-t| \nu_{f', p}(b, t) dt$$

for any $\lambda \in [0, 1]$ and the Ostrowski's type inequality

$$(3.15) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - f(x) \right| \leq \frac{1}{b-a} \int_a^b |t-x| \nu_{f', p}(x, t) dt$$

for any $x \in [a, b]$.

Proof. For $p > 1$ we have

$$\int_0^1 |f'((1-s)z + st)| ds \leq \left(\int_0^1 |f'((1-s)z + st)|^p ds \right)^{1/p}$$

for any $z, t \in [a, b]$.

From (3.6) we obtain

$$\begin{aligned}
(3.16) \quad & \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda) f(x) - \lambda f(y) \right| \\
& \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \left(\int_0^1 |f'((1-s)x+st)| ds \right) dt \\
& \quad + \lambda \frac{1}{b-a} \int_a^b |y-t| \left(\int_0^1 |f'((1-s)t+sy)| ds \right) dt \\
& \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \left(\int_0^1 |f'((1-s)x+st)|^p ds \right)^{1/p} dt \\
& \quad + \lambda \frac{1}{b-a} \int_a^b |y-t| \left(\int_0^1 |f'((1-s)y+st)|^p ds \right)^{1/p} dt \\
& = (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \nu_{f',p}(x,t) dt + \lambda \frac{1}{b-a} \int_a^b |y-t| \nu_{f',p}(y,t) dt
\end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

This proves the desired result (3.13). \square

Corollary 3. *With the assumptions of Theorem 2, we have*

$$\begin{aligned}
(3.17) \quad & \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda) f(x) - \lambda f(y) \right| \\
& \leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x|^{1/q} \left| \int_x^t |f'(\tau)|^p d\tau \right|^{1/p} dt \\
& \quad + \lambda \frac{1}{b-a} \int_a^b |t-y|^{1/q} \left| \int_y^t |f'(\tau)|^p d\tau \right|^{1/p} dt \\
& \leq \frac{\|f'\|_{[a,b],p}}{(1/q+1)(b-a)} \\
& \quad \times \left\{ (1-\lambda) \left[(b-x)^{1/q+1} + (x-a)^{1/q+1} \right] + \lambda \left[(b-y)^{1/q+1} + (y-a)^{1/q+1} \right] \right\}
\end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

In particular, we have the λ -weighted trapezoid inequality

$$\begin{aligned}
(3.18) \quad & \left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda) f(a) - \lambda f(b) \right| \\
& \leq (1-\lambda) \frac{1}{b-a} \int_a^b (t-a)^{1/q} \left(\int_a^t |f'(\tau)|^p d\tau \right)^{1/p} dt \\
& \quad + \lambda \frac{1}{b-a} \int_a^b (b-t)^{1/q} \left(\int_t^b |f'(\tau)|^p d\tau \right)^{1/p} dt \leq \frac{\|f'\|_{[a,b],p}}{(1/q+1)} (b-a)
\end{aligned}$$

for any $\lambda \in [0, 1]$ and the Ostrowski's type inequality

$$(3.19) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - f(x) \right| \leq \frac{1}{b-a} \int_a^b |t-x|^{1/q} \left| \int_x^t |f'(\tau)|^p d\tau \right|^{1/p} dt$$

$$\leq \frac{\|f'\|_{[a,b],p}}{(1/q+1)(b-a)} \left[(b-x)^{1/q+1} + (x-a)^{1/q+1} \right]$$

for any $x \in [a, b]$.

Proof. If $z \neq t$, we have

$$\int_0^1 |f'((1-s)z + st)|^p ds = \frac{1}{t-z} \int_z^t |f'(\tau)|^p d\tau,$$

which implies that

$$|t-z| \left(\int_0^1 |f'((1-s)z + st)|^p ds \right)^{1/p} = |t-z|^{1-1/p} \left| \int_z^t |f'(\tau)|^p d\tau \right|^{1/p}$$

$$= |t-z|^{1/q} \left| \int_z^t |f'(\tau)|^p d\tau \right|^{1/p}.$$

Therefore

$$\int_0^1 |f'((1-s)z + st)| ds \leq |t-z|^{1/q} \left| \int_z^t |f'(\tau)|^p d\tau \right|^{1/p}$$

for any $t, z \in [a, b]$.

By utilising (3.16) we get

$$\left| \frac{1}{b-a} \int_a^b f(t) dt - (1-\lambda)f(x) - \lambda f(y) \right|$$

$$\leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x| \left(\int_0^1 |f'((1-s)x + st)| ds \right) dt$$

$$+ \lambda \frac{1}{b-a} \int_a^b |y-t| \left(\int_0^1 |f'((1-s)t + sy)| ds \right) dt$$

$$\leq (1-\lambda) \frac{1}{b-a} \int_a^b |t-x|^{1/q} \left| \int_x^t |f'(\tau)|^p d\tau \right|^{1/p} dt$$

$$+ \lambda \frac{1}{b-a} \int_a^b |t-y|^{1/q} \left| \int_y^t |f'(\tau)|^p d\tau \right|^{1/p} dt =: D_\lambda(x, y)$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

This proves the first inequality in (3.17).

Since

$$\left| \int_x^t |f'(\tau)|^p d\tau \right|^{1/p}, \quad \left| \int_y^t |f'(\tau)|^p d\tau \right|^{1/p} \leq \|f'\|_{[a,b],p}$$

for any $t, x \in [a, b]$ and

$$\int_a^b |t-x|^{1/q} dt = \frac{(b-x)^{1/q+1} + (x-a)^{1/q+1}}{1/q+1},$$

$$\int_a^b |t-y|^{1/q} dt = \frac{(b-y)^{1/q+1} + (y-a)^{1/q+1}}{1/q+1},$$

then

$$\begin{aligned} D(x, y) &\leq (1-\lambda) \|f'\|_{[a,b],p} \left[\frac{(b-x)^{1/q+1} + (x-a)^{1/q+1}}{(1/q+1)(b-a)} \right] \\ &\quad + \lambda \|f'\|_{[a,b],p} \left[\frac{(b-y)^{1/q+1} + (y-a)^{1/q+1}}{(1/q+1)(b-a)} \right] \\ &= \frac{\|f'\|_{[a,b],p}}{(1/q+1)(b-a)} \left[(1-\lambda) \left[(b-x)^{1/q+1} + (x-a)^{1/q+1} \right] \right. \\ &\quad \left. + \lambda \left[(b-y)^{1/q+1} + (y-a)^{1/q+1} \right] \right] \end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

This proves the last part of (3.17). \square

Remark 4. *With the assumptions of Theorem 2, we have the midpoint inequality*

$$\begin{aligned} (3.20) \quad &\left| \frac{1}{b-a} \int_a^b f(t) dt - f\left(\frac{a+b}{2}\right) \right| \\ &\leq \frac{1}{b-a} \int_a^b \left| t - \frac{a+b}{2} \right|^{1/q} \left| \int_{\frac{a+b}{2}}^t |f'(\tau)|^p d\tau \right|^{1/p} dt \\ &\leq \frac{\|f'\|_{[a,b],p}}{2^{1/q}(1/q+1)} (b-a)^{1/q}. \end{aligned}$$

4. TWO POINTS INEQUALITIES FOR DOUBLE INTEGRAL MEAN

We also have:

Theorem 3. *Let $f : [a, b] \rightarrow \mathbb{C}$ be an absolutely continuous function on $[a, b]$. Then for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$ we have*

$$\begin{aligned} (4.1) \quad &\left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(x) - \lambda f(y) \right| \\ &\leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \nu_{f'}\left(x, \frac{u+v}{2}\right) dudv \\ &\quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right| \nu_{f'}\left(y, \frac{u+v}{2}\right) dudv \end{aligned}$$

where, as above,

$$0 \leq \nu_{f'}(z, t) := \int_0^1 |f'((1-s)z + st)| ds, \text{ and } z, t \in [a, b].$$

In particular, we have the λ -weighted trapezoid inequality

$$(4.2) \quad \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(a) - \lambda f(b) \right| \\ \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(\frac{u+v}{2} - a\right) \nu_{f'}\left(a, \frac{u+v}{2}\right) dudv \\ + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(b - \frac{u+v}{2}\right) \nu_{f'}\left(b, \frac{u+v}{2}\right) dudv$$

for any $\lambda \in [0, 1]$ and the Ostrowski's type inequality

$$(4.3) \quad \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - f(x) \right| \\ \leq \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \nu_{f'}\left(x, \frac{u+v}{2}\right) dudv$$

for any $x \in [a, b]$.

Proof. From Lemma 1 we have

$$(4.4) \quad f\left(\frac{u+v}{2}\right) = (1-\lambda)f(x) + \lambda f(y) \\ + (1-\lambda) \left(\frac{u+v}{2} - x\right) \int_0^1 f'\left((1-s)x + s\frac{u+v}{2}\right) ds \\ - \lambda \left(y - \frac{u+v}{2}\right) \int_0^1 f'\left((1-s)\frac{u+v}{2} + sy\right) ds$$

for any $x, y, u, v \in [a, b]$ and $\lambda \in [0, 1]$.

Taking the double integral mean in (4.4) we have

$$\frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv = (1-\lambda)f(x) + \lambda f(y) \\ + (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(\frac{u+v}{2} - x\right) \left(\int_0^1 f'\left((1-s)x + s\frac{u+v}{2}\right) ds\right) dudv \\ - \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(y - \frac{u+v}{2}\right) \left(\int_0^1 f'\left((1-s)\frac{u+v}{2} + sy\right) ds\right) dudv$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

This implies that

$$\begin{aligned}
(4.5) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(x) - \lambda f(y) \right| \\
& \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \left| \int_0^1 f'\left((1-s)x + s\frac{u+v}{2}\right) ds \right| dudv \\
& \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right| \left| \int_0^1 f'\left((1-s)\frac{u+v}{2} + sy\right) ds \right| dudv \\
& \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \int_0^1 \left| f'\left((1-s)x + s\frac{u+v}{2}\right) \right| ds dudv \\
& \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right| \int_0^1 \left| f'\left((1-s)\frac{u+v}{2} + sy\right) \right| ds dudv \\
& = (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \nu_{f'}\left(x, \frac{u+v}{2}\right) ds dudv \\
& \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right| \nu_{f'}\left(y, \frac{u+v}{2}\right) ds dudv
\end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$. □

Remark 5. We observe that for any bound $M(\cdot, \cdot)$ for the function $\nu_{f'}(\cdot, \cdot)$ on the square $[a, b]^2$ one can obtain the corresponding two point Ostrowski inequality

$$\begin{aligned}
(4.6) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(x) - \lambda f(y) \right| \\
& \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| M\left(x, \frac{u+v}{2}\right) dudv \\
& \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right| M\left(y, \frac{u+v}{2}\right) dudv
\end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

In the following, we give only a few examples of such inequalities. The interested reader may obtain many more by choosing other bounds for the function $\nu_{f'}(\cdot, \cdot)$ on the square $[a, b]^2$.

Corollary 4. Let $f : [a, b] \rightarrow \mathbb{C}$ be an absolutely continuous function on $[a, b]$. Assume that $f' \in L_\infty[a, b]$, then for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$ we have

$$\begin{aligned}
 (4.7) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(x) - \lambda f(y) \right| \\
 & \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \|f'\|_{[x, \frac{u+v}{2}], \infty} dudv \\
 & \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right| \|f'\|_{[y, \frac{u+v}{2}], \infty} dudv \\
 & \leq \frac{2}{3(b-a)^2} (1-\lambda) \left[(b-x)^3 - 2 \left| x - \frac{a+b}{2} \right|^3 + (x-a)^3 \right] \|f'\|_{[a, b], \infty} \\
 & \quad + \frac{2}{3(b-a)^2} \lambda \left[(b-y)^3 - 2 \left| y - \frac{a+b}{2} \right|^3 + (y-a)^3 \right] \|f'\|_{[a, b], \infty}.
 \end{aligned}$$

In particular, we have the λ -weighted trapezoid inequality

$$\begin{aligned}
 (4.8) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(a) - \lambda f(b) \right| \\
 & \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(\frac{u+v}{2} - a \right) \|f'\|_{[a, \frac{u+v}{2}], \infty} dudv \\
 & \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(b - \frac{u+v}{2} \right) \|f'\|_{[\frac{u+v}{2}, b], \infty} dudv \leq \frac{1}{2} \|f'\|_{[a, b], \infty} (b-a)
 \end{aligned}$$

for any $\lambda \in [0, 1]$ and the refinement of Ostrowski inequality

$$\begin{aligned}
 (4.9) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - f(x) \right| \\
 & \leq \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \|f'\|_{[x, \frac{u+v}{2}], \infty} dudv \\
 & \leq \frac{2}{3(b-a)^2} \left[(b-x)^3 - 2 \left| x - \frac{a+b}{2} \right|^3 + (x-a)^3 \right] \|f'\|_{[a, b], \infty}
 \end{aligned}$$

for any $x \in [a, b]$.

Remark 6. With the assumption of Theorem 3, we have the midpoint inequality

$$\begin{aligned}
 (4.10) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - f\left(\frac{a+b}{2}\right) \right| \\
 & \leq \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - \frac{a+b}{2} \right| \|f'\|_{[\frac{a+b}{2}, \frac{u+v}{2}], \infty} dudv \\
 & \leq \frac{1}{6} (b-a)^3 \|f'\|_{[a, b], \infty}.
 \end{aligned}$$

Further, we have:

Theorem 4. Let $f : [a, b] \rightarrow \mathbb{C}$ be an absolutely continuous function on $[a, b]$. If $f' \in L_p[a, b]$, with $p > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$, then for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$ we have

$$(4.11) \quad \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(x) - \lambda f(y) \right| \\ \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \nu_{f',p}\left(x, \frac{u+v}{2}\right) dudv \\ + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right| \nu_{f',p}\left(y, \frac{u+v}{2}\right) dudv$$

where, as above,

$$0 \leq \nu_{f',p}(z, t) := \left(\int_0^1 |f'((1-s)z + st)|^p ds \right)^{1/p}, \text{ and } z, t \in [a, b].$$

In particular, we have the λ -weighted trapezoid inequality

$$(4.12) \quad \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(a) - \lambda f(b) \right| \\ \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(\frac{u+v}{2} - a \right) \nu_{f',p}\left(a, \frac{u+v}{2}\right) dudv \\ + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(b - \frac{u+v}{2} \right) \nu_{f',p}\left(b, \frac{u+v}{2}\right) dudv$$

for any $\lambda \in [0, 1]$ and the Ostrowski's type inequality

$$(4.13) \quad \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - f(x) \right| \\ \leq \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \nu_{f',p}\left(x, \frac{u+v}{2}\right) dudv$$

for any $x \in [a, b]$.

Proof. For $p > 1$ we have the inequality

$$\int_0^1 \left| f' \left[(1-s)z + s \left(\frac{u+v}{2} \right) \right] \right| ds \leq \left(\int_0^1 \left| f' \left[(1-s)z + s \left(\frac{u+v}{2} \right) \right] \right|^p ds \right)^{1/p}$$

for any $z, x, y \in [a, b]$.

From (4.5) we have

$$\begin{aligned}
& \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(x) - \lambda f(y) \right| \\
& \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \int_0^1 \left| f' \left((1-s)x + s \frac{u+v}{2} \right) \right| ds dudv \\
& \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right| \int_0^1 \left| f' \left((1-s) \frac{u+v}{2} + sy \right) \right| ds dudv \\
& \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{u+v}{2} - x \right| \left(\int_0^1 \left| f' \left[(1-s)x + s \left(\frac{u+v}{2} \right) \right] \right|^p ds \right)^{1/p} ds dudv \\
& \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right| \left(\int_0^1 \left| f' \left[(1-s)y + s \left(\frac{u+v}{2} \right) \right] \right|^p ds \right)^{1/p} ds dudv \\
& \qquad \qquad \qquad =: E_\lambda(x, y)
\end{aligned}$$

which proves (4.11). \square

Corollary 5. *With the assumptions of Theorem 4, we have*

$$\begin{aligned}
(4.14) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(x) - \lambda f(y) \right| \\
& \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| x - \frac{u+v}{2} \right|^{1/q} \left| \int_{\frac{u+v}{2}}^x |f'(\tau)|^p d\tau \right|^{1/p} dudv \\
& \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right|^{1/q} \left| \int_{\frac{u+v}{2}}^y |f'(\tau)|^p d\tau \right|^{1/p} dudv \\
& \qquad \qquad \leq \frac{4}{(1/q+1)(1/q+2)(b-a)^2} \|f'\|_{[a,b],p} \\
& \quad \times \left\{ (1-\lambda) \left[(b-x)^{1/q+2} - 2 \left| x - \frac{a+b}{2} \right|^{1/q+2} + (x-a)^{1/q+2} \right] \right. \\
& \qquad \qquad \left. + \lambda \left[(b-y)^{1/q+2} - 2 \left| y - \frac{a+b}{2} \right|^{1/q+2} + (y-a)^{1/q+2} \right] \right\}
\end{aligned}$$

for any $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

In particular, we have the λ -weighted trapezoid inequality

$$\begin{aligned}
(4.15) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - (1-\lambda)f(a) - \lambda f(b) \right| \\
& \leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(\frac{u+v}{2} - a\right)^{1/q} \left| \int_{\frac{u+v}{2}}^a |f'(\tau)|^p d\tau \right|^{1/p} dudv \\
& \quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left(b - \frac{u+v}{2}\right)^{1/q} \left| \int_{\frac{u+v}{2}}^b |f'(\tau)|^p d\tau \right|^{1/p} dudv \\
& \leq \frac{2^{1/q+1} - 1}{2^{1/q-1} (1/q+1) (1/q+2)} \|f'\|_{[a,b],p} (b-a)^{1/q}
\end{aligned}$$

for any $\lambda \in [0, 1]$ and the Ostrowski's type inequality

$$\begin{aligned}
(4.16) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - f(x) \right| \\
& \leq \frac{1}{(b-a)^2} \int_a^b \int_a^b \left|x - \frac{u+v}{2}\right|^{1/q} \left| \int_{\frac{u+v}{2}}^x |f'(\tau)|^p d\tau \right|^{1/p} dudv \\
& \leq \frac{4}{(1/q+1) (1/q+2) (b-a)^2} \\
& \quad \times \left[(b-x)^{1/q+2} - 2 \left|x - \frac{a+b}{2}\right|^{1/q+2} + (x-a)^{1/q+2} \right] \|f'\|_{[a,b],p}
\end{aligned}$$

for any $x \in [a, b]$.

Proof. For $p > 1$ we have

$$\int_0^1 \left| f' \left[(1-s)z + s \left(\frac{u+v}{2} \right) \right] \right| ds \leq \left(\int_0^1 \left| f' \left[(1-s)z + s \left(\frac{u+v}{2} \right) \right] \right|^p ds \right)^{1/p}$$

for any $z, u, v \in [a, b]$.

Now, suppose that $z \neq \frac{u+v}{2}$. Then

$$\begin{aligned}
\int_0^1 \left| f' \left[(1-s)z + s \left(\frac{u+v}{2} \right) \right] \right|^p ds &= \left(z - \frac{u+v}{2} \right)^{-1} \int_{\frac{u+v}{2}}^z |f'(\tau)|^p d\tau \\
&= \left| z - \frac{u+v}{2} \right|^{-1} \left| \int_{\frac{u+v}{2}}^z |f'(\tau)|^p d\tau \right|
\end{aligned}$$

namely

$$\left(\int_0^1 \left| f' \left[(1-s)z + s \left(\frac{u+v}{2} \right) \right] \right|^p ds \right)^{1/p} = \left| z - \frac{u+v}{2} \right|^{-1/p} \left| \int_{\frac{u+v}{2}}^z |f'(\tau)|^p d\tau \right|^{1/p}.$$

This implies that

$$\begin{aligned} & \left| z - \frac{u+v}{2} \right| \left(\int_0^1 \left| f' \left[(1-s)z + s \left(\frac{u+v}{2} \right) \right] \right|^p ds \right)^{1/p} \\ &= \left| z - \frac{u+v}{2} \right|^{1-1/p} \left| \int_{\frac{u+v}{2}}^z |f'(\tau)|^p d\tau \right|^{1/p} = \left| z - \frac{u+v}{2} \right|^{1/q} \left| \int_{\frac{u+v}{2}}^z |f'(\tau)|^p d\tau \right|^{1/p} \end{aligned}$$

for any $z, u, v \in [a, b]$.

Using the notation from the proof of Theorem 4, we get

$$\begin{aligned} E_\lambda(x, y) &\leq (1-\lambda) \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| x - \frac{u+v}{2} \right|^{1/q} \left| \int_{\frac{u+v}{2}}^x |f'(\tau)|^p d\tau \right|^{1/p} dudv \\ &\quad + \lambda \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right|^{1/q} \left| \int_{\frac{u+v}{2}}^y |f'(\tau)|^p d\tau \right|^{1/p} dudv, \end{aligned}$$

which proves the first inequality in (4.14).

Since

$$\left| \int_{\frac{u+v}{2}}^x |f'(\tau)|^p d\tau \right|^{1/p}, \quad \left| \int_{\frac{u+v}{2}}^y |f'(\tau)|^p d\tau \right|^{1/p} \leq \|f'\|_{[a,b],p}$$

for any $x, y, u, v \in [a, b]$, then

$$\begin{aligned} & \int_a^b \int_a^b \left| x - \frac{u+v}{2} \right|^{1/q} \left| \int_{\frac{u+v}{2}}^x |f'(\tau)|^p d\tau \right|^{1/p} dudv \\ &\leq \|f'\|_{[a,b],p} \int_a^b \int_a^b \left| x - \frac{u+v}{2} \right|^{1/q} dudv \\ &= \frac{4}{(1/q+1)(1/q+2)} \\ &\times \|f'\|_{[a,b],p} \left[(b-x)^{1/q+2} - 2 \left| x - \frac{a+b}{2} \right|^{1/q+2} + (x-a)^{1/q+2} \right] \end{aligned}$$

and

$$\begin{aligned} & \int_a^b \int_a^b \left| y - \frac{u+v}{2} \right|^{1/q} \left| \int_{\frac{u+v}{2}}^y |f'(\tau)|^p d\tau \right|^{1/p} dudv \\ &\leq \frac{4}{(1/q+1)(1/q+2)} \|f'\|_{[a,b],p} \\ &\times \left[(b-y)^{1/q+2} - 2 \left| y - \frac{a+b}{2} \right|^{1/q+2} + (y-a)^{1/q+2} \right] \end{aligned}$$

for any $x, y \in [a, b]$.

This proves the last part of (4.14). \square

Remark 7. *With the assumption of Theorem 4, we have*

$$\begin{aligned}
 (4.17) \quad & \left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{u+v}{2}\right) dudv - f\left(\frac{a+b}{2}\right) \right| \\
 & \leq \frac{1}{(b-a)^2} \int_a^b \int_a^b \left| \frac{a+b}{2} - \frac{u+v}{2} \right|^{1/q} \left| \int_{\frac{u+v}{2}}^{\frac{a+b}{2}} |f'(\tau)|^p d\tau \right|^{1/p} dudv \\
 & \leq \frac{1}{2^{1/q-1} (1/q+1) (1/q+2)} (b-a)^{1/q} \|f'\|_{[a,b],p}.
 \end{aligned}$$

REFERENCES

- [1] M. W. Alomari, A companion of the generalized trapezoid inequality and applications. *J. Math. Appl.* **36** (2013), 5–15.
- [2] N. S. Barnett and S. S. Dragomir, A trapezoid type inequality for double integrals. Proceedings of the Third World Congress of Nonlinear Analysts, Part 4 (Catania, 2000). *Nonlinear Anal.* **47** (2001), no. 4, 2321–2332.
- [3] N. S. Barnett and S. S. Dragomir, A perturbed trapezoid inequality in terms of the fourth derivative. *Korean J. Comput. Appl. Math.* (2002), no. 1, 45–60.
- [4] N. S. Barnett and S. S. Dragomir, Perturbed version of a general trapezoid inequality. *Inequality theory and applications*. Vol. 3, 1–12, Nova Sci. Publ., Hauppauge, NY, 2003.
- [5] N. S. Barnett and S. S. Dragomir, A perturbed trapezoid inequality in terms of the third derivative and applications. *Inequality theory and applications*. Vol. 5, 1–11, Nova Sci. Publ., New York, 2007.
- [6] N. S. Barnett, S. S. Dragomir and C. E. M. Pearce, A quasi-trapezoid inequality for double integrals. *ANZIAM J.* **44** (2003), no. 3, 355–364.
- [7] A. M. Bica, V. A. Căuş and S. Mureşan, Application of a trapezoid inequality to neutral Fredholm integro-differential equations in Banach spaces. *J. Inequal. Pure Appl. Math.* **7** (2006), no. 5, Article 173, 11 pp.
- [8] H. Budak and M. Z. Sarikaya, A companion of the generalised trapezoid inequality for functions of two variables with bounded variation and applications. *Int. J. Appl. Nonlinear Sci.* **2** (2016), no. 4, 311–327.
- [9] X.-L. Cheng and J. Sun, A note on the perturbed trapezoid inequality. *J. Inequal. Pure Appl. Math.* **3** (2002), no. 2, Article 29, 7 pp.
- [10] P. Cerone and S. S. Dragomir, Trapezoidal-type rules from an inequalities point of view. *Handbook of analytic-computational methods in applied mathematics*, 65–134, Chapman & Hall/CRC, Boca Raton, FL, 2000. Preprint *RGMA Res. Rep. Coll.* **2** (1999), Issue 6, Art 8. [Online <http://rgmia.org/papers/v2n6/TrapRulesIneqRep.pdf>].
- [11] P. Cerone, S. S. Dragomir and C. E. M. Pearce, A generalized trapezoid inequality for functions of bounded variation. *Turkish J. Math.* **24** (2000), no. 2, 147–163.
- [12] S. S. Dragomir, A Grüss' type integral inequality for mappings of r-Hölder's type and applications for trapezoid formula. *Tamkang J. Math.* **31** (2000), no. 1, 43–47.
- [13] S. S. Dragomir, Ostrowski type inequalities for isotonic linear functionals, *J. Ineq. Pure & Appl. Math.*, **3** (2002), No. 4, Article 4.
- [14] S. S. Dragomir, Improvements of Ostrowski and generalised trapezoid inequality in terms of the upper and lower bounds of the first derivative. *Tamkang J. Math.* **34** (2003), no. 3, 213–222.
- [15] S. S. Dragomir, Refinements of the generalized trapezoid inequality in terms of the cumulative variation and applications. *Cubo* **17** (2015), no. 2, 31–48.
- [16] S. S. Dragomir, Some inequalities of Ostrowski type for double integral mean of absolutely continuous functions, Preprint *RGMA Res. Rep. Coll.* **21** (2018), Art.
- [17] S. S. Dragomir, Y. J. Cho and Y. H. Kim, On the trapezoid inequality for the Riemann-Stieltjes integral with Hölder continuous integrands and bounded variation integrators. *Inequality theory and applications*. Vol. 5, 71–79, Nova Sci. Publ., New York, 2007.
- [18] S. S. Dragomir and A. McAndrew, On trapezoid inequality via a Grüss type result and applications. *Tamkang J. Math.* **31** (2000), no. 3, 193–201.

- [19] S. S. Dragomir, J. Pečarić and S. Wang, The unified treatment of trapezoid, Simpson, and Ostrowski type inequality for monotonic mappings and applications. *Math. Comput. Modelling* **31** (2000), no. 6-7, 61–70.
- [20] H. Gunawan, A note on Dragomir-McAndrew's trapezoid inequalities. *Tamkang J. Math.* **33** (2002), no. 3, 241–244.
- [21] W. Liu and J. Park, Some perturbed versions of the generalized trapezoid inequality for functions of bounded variation. *J. Comput. Anal. Appl.* **22** (2017), no. 1, 11–18.
- [22] P. R. Mercer, Hadamard's inequality and trapezoid rules for the Riemann-Stieltjes integral. *J. Math. Anal. Appl.* **344** (2008), no. 2, 921–926.
- [23] B. G. Pachpatte, A note on a trapezoid type integral inequality. *Bull. Greek Math. Soc.* **49** (2004), 85–90.
- [24] N. Ujević, Error inequalities for a generalized trapezoid rule. *Appl. Math. Lett.* **19** (2006), no. 1, 32–37.

¹MATHEMATICS, COLLEGE OF ENGINEERING & SCIENCE, VICTORIA UNIVERSITY, PO Box 14428, MELBOURNE CITY, MC 8001, AUSTRALIA.

E-mail address: sever.dragomir@vu.edu.au

URL: <http://rgmia.org/dragomir>

²DST-NRF CENTRE OF EXCELLENCE, IN THE MATHEMATICAL AND STATISTICAL SCIENCES, SCHOOL OF COMPUTER SCIENCE & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA